A & ol & AF S E A A
20224 = 3 3 Yural
SM: AL
B 200 HSI4Y
o210 BYEMASY
8 o2 MAYGaY (9l @2
SH-F-2-8-8 Ol & plE-E" HDE2
= 7,159,091 6,841,835 317,256
HAL 7,159,091 6,841,835 317,256
200 Mel=+=¢ 1,232,905 1,215,441 17,464
210 ZA= M2+ 1,208,385 1,207,941 444
211 THArUTH 42 715 441 274
211-02 BRMALH2 715 441 274
Tema dUE 715 441 274
216 0l Xt 2! 670 500 170
216-03 JIEHOI Xt ) 670 500 170
OJIEF Ol X4 (AYSE D) 170 0 170
220 AAIFA 2 =2 16,720 2,500 14,220
223 BEEErELY 14,100 0 14,100
223-02 MHHEXES S+ 14,100 0 14,100
ONMEES S wrat+el 14,100 0 14,100
224 JIEt4 2l 2,620 2,500 120
224-07 191+ 2,620 2,500 120
O+ (ALZTD) 120 0 120
230 NYHIMM - 23 7,800 5,000 2,800
234 e = 7,800 5,000 2,800
234-02 JIEtDHEHE 7,800 5,000 2,800
OBtEZ 7,800 5,000 2,800
500 2X3 5,887, 186 5,587,394 299,792
510 2 D2 X3S 4,118,284 3,885,497 232,787
511 208 x2S 4,118,284 3,885,497 232,787
511-01 2 DL X3 1,922, 111 1,695,462 226,649
ORA#FI (=1 1,615,995 1,406,076 209,919
— RS 770 1,851 A 1,081
—SISOIEIIR HYTE AU (SYH) 670,650 440,535 230, 115
— DRUHI0IHAZSS-19 &1 22lYRXBY X 233,603 252,718 ~19,115
OAYBAU(22) 306, 116 289,386 16,730
~HASS N ZHER N 54,080 42,250 11,830
— ARl Rl B HA 123,430 118,530 4,900
511-03 713 2,196,173 2,190,035 6,138
OAYBAIB(IIZ) 1,733,997 1,727,859 6,138
— D98 YuE o2H Y 2,000 1,000 1,000
—JIEFNAB=NNME NV OIB2E) 25,650 25,550 100
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